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L 2n> mwn: buying 29 during nv'nw (from pIrn 0Y); must receive the »INR as a gift, as it is prohibited to purchase
a. If-he wasn't prepared to gift the nny, bury the purchase price in the price of the 291>
b.  Question: why not pay him directly?
i. Answer: we do not give n"»aw n11°a "7 to an YIRN DY
ii. Per: Xma— we only pay an n”y for m»aw ma enough for 3 meals’s worth (sustenance)
1. And if: we give more, we declare that the money is Y911 on fruit we have in the house
a. And then: we come home and eat that fruit n>yaw nwypa
2. Limitation: this is only if bought from 9pan; but if from watched fruit — no amount is 1mn
3. Challenge (nww 77): R:0 72w — may buy Ipan, since these types aren’t 1w
a. Answer (nww “7): purchase limited to 10 »122 (v. 1- 3 meals)
c. Question: why is it permissible to buy the 1915? (same problem should apply)
i. Answer: the 2% grew in the 6t year
ii. Challenge: same is true for nInR
1. Answer: nnN’s status determined at time of harvest (nvnw)
2. Challenge: 3 8™ agree (1:2 ©122) that nInKR’s nyraw-status is determined at nvan
a.  Defense: our mwn is per RwIR1 1M1 that »INR’s nyyav-status is@harvest
iii. Challenge: why do we need the reason that 2917 is from 6% year — as Xn%ya yy, m»aw doesn’t apply
1. Per: xn»7a —if he picked e.g. grape leaves for food — n'»»aw applies; for wood — doesn’t
2. Defense: those follow v. 2 — 03%::1%3R85 — must have 11971 and nR1N at same time (~D*xY)
a.  Challenge: there is wood that is devoured as it gives nxin
b. Answer (837): wood typically has nxin after m1ya
3. Note: the issue of NponY DY vis-a-vis NV is a DRIN NPMIYNN
a.  Per: xn»a - re giving n'»aw ma for soaking flax or laundry (in noyaw Sw )
i. Reason: n9arY — but not for other uses
1. b5 used to compare to n9IRY, as above
b. ’p» 7 permits n7wn and no11d
i. Reason: 3% — for all “your” needs
1. 75585 used to exclude using it for a bandage
2. Reasoning: bandages are not common need, unlike no22 nwn
c. Note: X121 which reads %385 as excluding bandages
i. And: g9 (using wine to pour out at festivity) or emetic
ii. Must be: oV "
1. Argument: if it were 1329, would have also excluded nv113y nwN
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